REANRE BHEMEREHFT L X —

B\OOICA: B, AF kT BE1 #F

LUF ORI 351 2 Wk S %K &,
(1) a>0 3% XOWMAERIES —IF A F (cardioid) HHFR & FEIZNS .

r=a(l+cosh), (0<6<2m)

Z DT £ 13 Y OER S %K X
(] Kb BT S 1

2

2 27
1 20
:%/ <1+20080+i>d9
0

1 27T 2 27T
S = —/ a*(1 + cosf)? df = %/ (14 2cosf + cos® ) db
0 0

2

CL2

. 1 1 3,
—?{0—1—281119—1—5(0—1——811129)] —§7ra.

2 0

M1 H—oAAF

(2) n ZEZK LT 5. XoMmAER

r = sin(nf) (0 <6< %)

< X 2 RT3 RIFO WA S %R &
(] skab B HRE S 1%

1 [ 1—cos(2nh) 1 1. "
= df = - |6 — — sin(2n0
21; 2 4{ 2n$n(n)h
_
An’

Lkﬁofw9:fﬂ

n



AR ORISR HE £ v & —
a>0 35 MTOMECET 2 MROEX | 2R &.
(1) XoHhfR

Yy = acoshE
a
ZFEZD.0>010L, ZOMBOXE [—b,b) ICBF2EX | XKD X.
(&) o :sinhg &b,
1+ (y)? =1 + sinh? T cosh??
a a

Lo TRDBZES 11X

- [ ivwra- [

—b

b
= 2asinh — (: a (eg — e_g>> .
a

(2) ROMAERIZT L F X T ZOMENE L M 5.

b
cosh z dx = [a sinh E]
a al—p

r=af.

Zoex 0 XM 0,2r] 2E< L ZodifORE | Z2KD K.
f#]: r2 4+ (1) =a%0* +a®> =a?(0* + 1) & R205, RODIZEX 11X

27
=a V02 +1do

0
= a{%(ex/er sinh ™! 9)]?
:(L<%shﬁf42w—%wx/rlzg§>
- g <27rm+ 10g<27r+ \/W)) .
(3) ROWFRR TS FUEHE L W3 5.
—ab

r=e

JRFRED & W, 6 DX [0, 00) %E@b( L EDHORSE | ZRD K.
[f#]: r2+ (r")2 = e 2% + 62729 = (a2 +1)e7 2?0 22205, RDODBZEX [

z—/ (/72 + d0 dQ—\/aQ / e~ do

=+va?+1 lim [——e_ae]
R— o0 a 0

a?+1
—




